第十七章　新製造環境會計

精選習題

選擇題　

1. 如果企業實施產品差異化(product differentiation)策略是成功的，則進行兩期間相關會計資訊之差異分析，應該會出現何種結果？

(A)成長(growth)成分與價格回收(price-recovery)成分都應出現有利差異。

(B)價格回收成分與生產力(productivity)成分都應出現有利差異。

(C)成長成分與生產力成分都應出現有利差異。

(D)只有成長成分會出現有利差異。

【91年會計師考試試題】A
2. 於分析某年營業利益改變之原因時，發現成長因素（growth component）出現有利的變化，下列何者原因最能解釋此現象？

(A)產能降低(B)生產效率提昇(C)單位售價增加
(D)銷售單位提昇

【94年高考會審人員考試試題】D

綜合題
一、皇家公司為銷售高品質手繪瓷器的企業，銷售的瓷器均出自藝術家的精心設計。公司的策略是提供多種款式的商品、優質的顧客服務，以訂定較高的售價。目前該公司採行策略基礎責任會計制度(strategic-based responsibility accounting system)，透過平衡計分卡(balanced scorecard)期確保策略之有效達成。X1年和X2年相關資料如下(為簡化起見，假設每位顧客僅購買一件瓷器)：

	
	X1年
	X2年

	1.瓷器購入與銷售件數
	40,000
	42,000

	2.每件瓷器平均售價
	$60
	$60

	3.每件瓷器平均成本
	$40
	$42

	4.銷售及顧客服務產能
	51,000名顧客
	43,000名顧客

	5.銷售及顧客服務成本
	$357,000
	$296,700

	6.每位顧客的銷售及顧客服務產能成本
	每位顧客 $7
	每位顧客 6.90

	7.購買與管理產能
	980
	850

	8.購買與管理成本
	$245,000
	$204,000

	9.每件設計購買與管理產能成本
	每件設計 $250
	每件設計 $240



  全部銷售及顧客服務成本是以公司能提供服務的顧客產能為分攤基礎，非實際的顧客數量。而全部的購買與管理成本也是按該公司所定購買與管理產能而分攤(此產能定義為皇家公司所能購買與管理之不同設計的件數)，並非依實際購買之設計件數而定。該公司在X1年和X2年分別購買930件和820件不同的設計。

  X2年初該公司預計，X2年將比X1年的營業利益增加25%。

試作：

（一）皇家公司的策略是採用產品差異化策略或成本領導策略？請說明。

（二）計算該公司X1年和X2年的營業利益及其變動數。

（三）計算X1年和X2年間營業利益變動之成長(growth)、價格-回收(price-recovery)與生產力(productivity)因素。(各項因素之收益或成本效果請標明「有利」或「不利」)

（四）從營業利益的策略分析觀點，說明該公司X2年的策略執行是否成功？

【93年會計師考試試題】

解析：

（一）

公司的策略是提供多種款式的商品、優質的顧客服務，以訂定較高的售價，因此為產品差異化策略。

（二）
	
	
	X1
	
	X2
	
	差異

	銷貨收入
	
	2,400,000
	
	2,520,000
	
	

	成本：
	
	
	
	
	
	

	銷貨成本
	
	1,600,000
	
	1,764,000
	
	

	服務成本
	
	357,000
	
	296,700
	
	

	管理成本
	
	245,000
	
	204,000
	
	

	
	
	2,202,000
	
	2,264,700
	
	

	
	
	198,000
	
	255,300
	
	57,300有利


（三）

	收入面：

	單價
	
	數量
	
	金額
	
	
	
	

	60
	×
	42,000
	=
	2,520,000
	
	120,000
	(有利)
	價格回收因素

成長因素

	60
	×
	42,000
	=
	2,520,000
	
	
	
	

	60
	×
	40,000
	=
	2,400,000
	
	
	
	


	銷貨成本：

	單價
	
	數量
	
	金額
	
	
	
	

	42
	×
	42,000
	=
	1,764,000
	
	84,000

80,000
	(不利)

(不利)
	價格回收因素

成長因素

	40
	×
	42,000
	=
	1,680,000
	
	
	
	

	40
	×
	40,000
	=
	1,600,000
	
	
	
	


	服務成本：

	單價
	
	數量
	
	金額
	
	
	
	

	6.9
	×
	43,000
	=
	296,700
	
	-55,200

-5,100

0
	(有利)

(有利)


	生產力因素

價格回收因素

成長因素

	6.9
	×
	51,000
	=
	351,900
	
	
	
	

	7
	×
	51,000
	=
	357,000
	
	
	
	

	7
	×
	51,000
	=
	357,000
	
	
	
	


	管理成本：

	單價
	
	數量
	
	金額
	
	
	
	

	240
	×
	850
	
	204,000
	
	-31,200

-9,800

0
	(有利)

(有利)


	生產力因素

價格回收因素

成長因素

	240
	×
	980
	
	235,200
	
	
	
	

	250
	×
	980
	
	245,000
	
	
	
	

	250
	×
	980
	
	245,000
	
	
	
	


	
	
	生產力

因素
	
	價格回收

因素
	
	成長

因素
	
	合計
	

	收入面
	
	0
	
	0
	
	120,000
	有利
	
	

	成本面
	
	
	
	
	
	
	
	
	

	銷貨成本
	
	0
	
	84,000
	不利
	80,000
	不利
	
	

	服務成本
	
	55,200
	有利
	5,100
	有利
	0
	
	
	

	管理成本
	
	31,200
	有利
	9,800
	有利
	0
	
	
	

	合計
	
	86,400
	有利
	69,100
	不利
	40,000
	不利
	57,300
	有利


（四）

從營業利益的策略分析觀點，該公司X2年的策略執行失敗，價格回收因素為不利，但是生產力因素卻是有利，所以公司應重新定位策略與發展方向。
二、SuperToys Company makes a funny toy with model number TY101. The goal for year 20X4 is to reduce direct materials usage per unit. No defective units are currently produced. Manufacturing conversion costs depend on production capacity defined in terms of TY101 units that can be produced. The industry market size for appliances increased 5% from year 20X3 to year 20X4. The following additional data are available for 20X3 and 20X4:

	
	20X3
	20X4

	Units of TY101 produced and sold
	10,000
	10,500

	Selling price
	$100
	$95

	Direct materials (Square feet)
	30,000
	29,000

	Direct material costs per square foot
	$10
	$11

	Manufacturing capacity for TY101 (units)
	12,500
	12,000


Total conversion costs are $250,000 in year 20X3, and $240,000 in year 20X4. Conversion costs per unit are $20, the same for both years.

Required:

（一）What is the revenue effect of the price-recovery component? 

（二） What is the cost effect of the price-recovery component? 

（三） What is the cost effect of the growth component for direct material?

【93年中原大學會計研究所考試試題】

解析：

（一）收入的價格回收因素=10,500×(95-100)=-52.500(不利)
（二）
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三、Winchester Company sells women’s clothing. Winchester’s strategy is to offer a wide choice of clothes and excellent customer service and to charge a premium price. Winchester provides the data for 2003 and 2004. To simplify, assume that each customer buys one piece of clothing. 

	
	2003
	2004

	1. Pieces of clothing purchased and sold 

2. Average selling price

3. Average cost per piece of clothing 

4. Selling and customer-service capacity

5. Selling and customer-service costs

6. Purchasing and administrative capacity 

7. Purchasing and administrative costs

8. Purchasing and administrative capacity cost per distinct design 
	40,000

$60

$40

51,000 customers

$357,000

980

$245,000

$250
	40,000

$59

$41

43,000 customers

$296,700

850

$204,000

$240


Total selling and customer-service costs depend on the number of customers that Winchester has created capacity to support, not the actual number of customers that Winchester serves. Total purchasing and administrative costs depend on purchasing and administrative capacity that Winchester has created (defined in terms of the number of distinct clothing designs that Winchester can purchase and administer). Purchasing and administrative costs do not depend on the actual number of distinct clothing designs purchased. Winchester respectively purchased 930 and 820 distinct designs in 2003 and 2004. 

Required: 

(1) Is Winchester’s strategy one of cost leadership or product differentiation? Explain. (3%)

(2) Please compute the growth, price-recovery and productivity components of changes in operating income between 2003 and 2004. (12%)

【94年彰化師範大學會計研究所考試試題】

解析：

1.由於wincester公司提供較優質的服務，向客戶索取較高的價格所以其策略為產品差異化。

	2.
	
	2003
	
	2004
	
	差異

	銷貨收入
	
	$2,400,000
	
	$2,360,000
	
	

	成本：
	
	
	
	
	
	

	銷貨成本
	
	1,600,000
	
	1,640,000
	
	

	Selling costs
	
	357,000
	
	296,700
	
	

	Purchasing costs
	
	245,000
	
	204,000
	
	

	
	
	$198,000
	
	$219,300
	
	21,300有利


	收入面：

	單價
	
	數量
	
	金額
	
	
	
	

	59
	×
	40,000
	=
	2,360,000
	
	-40,000

0
	(不利)


	價格回收因素

成長因素

	60
	×
	40,000
	=
	2,400,000
	
	
	
	

	60
	×
	40,000
	=
	2,400,000
	
	
	
	


	銷貨成本：

	單價
	
	數量
	
	金額
	
	
	
	

	41
	×
	40,000
	=
	1,640,000
	
	40,000

0
	(不利)


	價格回收因素

成長因素

	40
	×
	40,000
	=
	1,600,000
	
	
	
	

	40
	×
	40,000
	=
	1,600,000
	
	
	
	


	Selling and customer-service costs：

	單價
	
	數量
	
	金額
	
	
	
	

	6.9
	×
	43,000
	=
	296,700
	
	-55,200

-5,100

0
	(有利)

(有利)


	生產力因素

價格回收因素

成長因素

	6.9
	×
	51,000
	=
	351,900
	
	
	
	

	7
	×
	51,000
	=
	357,000
	
	
	
	

	7
	×
	51,000
	=
	357,000
	
	
	
	


	Purchasing and administrative costs：

	單價
	
	數量
	
	金額
	
	
	
	

	240
	×
	850
	=
	204,000
	
	-31,200

-9,800

0
	(有利)

(有利)


	生產力因素

價格回收因素

成長因素

	240
	×
	980
	=
	235,200
	
	
	
	

	250
	×
	980
	=
	245,000
	
	
	
	

	250
	×
	980
	=
	245,000
	
	
	
	


	
	
	生產力

因素
	
	價格回收

因素
	
	成長

因素
	
	合計
	

	收入面
	
	-
	
	40,000
	不利
	-
	
	
	

	成本面
	
	
	
	
	
	
	
	
	

	銷貨成本
	
	-
	
	40,000
	不利
	-
	
	
	

	Selling costs
	
	55,200
	有利
	5,100
	有利
	-
	
	
	

	Purchasing costs
	
	31,200
	有利
	9,800
	有利
	-
	
	
	

	合計
	
	86,400
	有利
	65,100
	不利
	-
	
	21,300
	有利


四、 Blue Company makes a kitchen range hood, A-pod, and follows a strategy of product differential at Taichung.  The related data of Blue Company describes as follows:

	
	
	Year 20X6
	
	Year 20X7

	Units of A-pod produced and sold
	
	50,000
	
	51,000

	Selling price per unit of A-pod 
	
	$120
	
	$130

	Direct materials (square feet)
	
	150,000
	
	156,000

	Direct material cost per square foot
	
	$10
	
	$12

	Manufacturing capacity for A-pod
	
	60,000
	
	60,000

	Conversion costs
	
	$1,200,000
	
	$1,260,000

	Selling and customer-service capacity
	
	20 customers
	
	18 customers

	Selling and customer-service costs
	
	$460,000
	
	$432,000


Blue Company produced no defective units.  The conversion costs in the specific year are tied to manufacturing capacity.  And the selling and customer-service costs are related to the number of customers that selling and service functions are designed to support.

Required:

（一）Calculate the operating income for year 20X6 and year 20X7. (4%)

（二）Calculate the growth, price-recovery, and productivity components that explain the change in operating income from 20X6 to 20X7. (12%)

（三）Briefly describe the four perspectives of the balanced scorecard. (4%)

【95年朝陽科大會計研究所考試試題】

解析：

（一 ）

	
	
	2006
	
	2007
	

	銷貨收入
	
	6,000,000
	
	6,630,000
	

	成本：
	
	
	
	
	

	材料成本
	
	1,500,000
	
	1,872,000
	

	加工成本
	
	1,200,000
	
	1,260,000
	

	銷售服務成本
	
	460,000
	
	432,000
	

	營業利益
	
	2,840,000
	
	3,066,000
	


2007年營業利益比2006年增加數：

3,066,000-2,840,000＝226,000

（二）

	收入面：

	單價
	
	數量
	
	金額
	
	
	
	

	130
	×
	51,000
	=
	6,630,000
	
	510,000

120,000
	(有利)

(有利)
	價格回收因素

成長因素

	120
	×
	51,000
	=
	6,120,000
	
	
	
	

	120
	×
	50,000
	=
	6,000,000
	
	
	
	


	材料成本：

	單價
	
	數量
	
	金額
	
	
	
	

	12
	×
	156,000
	=
	1,872,000
	
	36,000

306,000

30,000
	(不利)

(不利)

(不利)
	生產力因素

價格回收因素

成長因素

	12
	×
	153,000
	=
	1,836,000
	
	
	
	

	10
	×
	153,000
	=
	1,530,000
	
	
	
	

	10
	×
	150,000
	=
	1,500,000
	
	
	
	


	加工成本：

	單價
	
	數量
	
	金額
	
	
	
	

	21
	×
	60,000
	=
	1,260,000
	
	0

60,000

0
	(不利)


	生產力因素

價格回收因素

成長因素

	21
	×
	60,000
	=
	1,260,000
	
	
	
	

	20
	×
	60,000
	=
	1,200,000
	
	
	
	

	20
	×
	60,000
	=
	1,200,000
	
	
	
	


	銷售服務成本：

	單價
	
	數量
	
	金額
	
	
	
	

	24,000
	×
	18
	=
	432,000
	
	-48,000

20,0000

0
	(有利)

(不利)


	生產力因素

價格回收因素

成長因素

	24,000
	×
	20
	=
	480,000
	
	
	
	

	23,000
	×
	20
	=
	460,000
	
	
	
	

	23,000
	×
	20
	=
	460,000
	
	
	
	


	
	
	生產力

因素
	
	價格回收

因素
	
	成長

因素
	
	合計
	

	收入面
	
	-
	
	510,000
	有利
	120,000
	有利
	
	

	成本面：
	
	
	
	
	
	
	
	
	

	材料成本
	
	36,000
	不利
	306,000
	不利
	30,000
	不利
	
	

	加工成本
	
	0
	
	60,000
	不利
	0
	
	
	

	銷售服務成本
	
	48,000
	有利
	20,000
	不利
	0
	
	
	

	合計
	
	12,000
	有利
	124,000
	有利
	90,000
	有利
	226,000
	有利


（三）

1.學習與成長構面：要滿足員工之需求。

2.內部程序構面：要滿組織之需求。

3.財務構面：要滿足股東之需求。

4.客戶構面：要滿足顧客之需求。





































～6～


_1163337492.unknown

_1163337545.unknown

